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O ] 3 +9x 112
. sec?2x
® I tan 2x

(iii) fcossx sin’x dx

Gv) j 1'n(a'? +x%) dx

v — 7
v 7—=5x - 3x2 .
2. Evaluate the following"integrals: [3m each]

M [ Vo< ax

.. T
f,} (1-cosecx)? cosecxcot x dx

(i)

- 3
f1(1+co_312x) i
-1 tanT x

(iii)

n 3
5 sec™x
: 2
@) [P
sec'x+cosec’x

.(V) _ N

2z cotx
J.o 2 in?
cos“x+sin” x




()

(b)

(©)

(d)

(b)

©

r
T

Sh th %____dx
ow et L% JG—50 -2
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Find J.cos 2xcosxdx
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IfI, = foz cos” x sin® xdxfor n > 0 show that

I = ”’; I, fornz2.
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Hence or otherwise evaluate .[02 cos* x sin® xdx.

Find J. sec® xdx
If I, = [*x" sin xdx forn 2 Oshow that

I, +n(n—-1L, = n(%)""l forn > 2.
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Find I, and hence evaluate f 07 x’ sin x dx.

Evaluate: J‘Z dx
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